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NOTE, There are THREE sectlons In this paper l.e. Section A, 8 and c. Attempt each section according to the given instructions.
Section-A - Warks : 12

erte the correct optlon e, A, B, C and D in the empty hox provided opposlte to each part.

i “The prefix micro means a factor ofu-vwiwmmins - A _ . S B | 0
- 107 (8 R 10°¢ ' ©) 10t (D) 10°°
i Displacement covered in unit lime 15 Galled wrmmmon s | o . 7 ) B (ii)
' B Veloy . (©)  Acceleration D)  Graviy
.............................. Iess then at earth . o . C (iff
‘(B) Two times (G) Six times )] T'hree times
device which is used for the separation of liquid of un-equal densities is 6al!ed — _ C {iv)
(vl Washing machine (B) Cream separator . (C)}. . Cenlrifuge - D)  Calorimeter
| L é.ntl ctock Wise LOrque is Laken «.wiveemrmsenicnn . ' ) B ' v}
i Negative - {8)  Posilive _ (€} . Paralel D)  Zero |
value of %" at the surface of moor is ' _ B | o
i 98misec’ () " 1 83m/ sec? (c)A : 4.9m/sec’ o) 8.9-mlsec;2
qtk done will be zero when the angle between force and displacement. - : L S B S ) (vii)
@ , 545'_" @ W -
Ice applled per unlt area of cross sectlon I8 callegh i o :‘ .' C
; () Pressure . (D) None of these
, ' ' D | w
©  JKg'k" (D) Noneofthese
: | B w
©) y=4a . D) . yéSo. '
| N w
: : © 0°c . D) 305°C '
i 21!- Whlch qne is.the best heal conductor? - _ _ B (i

A  Wood . (B)- Coppef {€)  Plastic (D) None of these

iy
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a2 Answer any Eight parts from the following. Each part carries 4 narks;
{i What is the difierence hetween Astrophysics and geophysics?
(i) Under what condifion displacement Is equal Yo dlaiam}
- (itiy - Write any four advantages of friction.
{iv) What is the acceleration produced by a force of 10 N axeried onlan object of 3000 grams?
W How'you determine the: cénire of gravity of Imegular stiape body? :
{vi) What s the difference between force-of gravity and force of grav|taﬂon? -
(Vi) - -Why the elficiency of an engine can not be 100%7. -
{viii) Whlch material Is more elastc, steel o rubbor anJ why?
(ix) Explain Pascal's pringiple.
(%} if a hot piece of thick glass is dipped in cold waler, it breaks. GIVE reasons.
(i} Why white clothes are preferred wearing In summes? Explaln bri

Section-B i | “Marks : 32
|

Saction-C ~ Marks: 21

NOTE : Attempt any threa questions from the following. Each question carrles kqual marks,
Q.3 (a)  Explaindifferent types of motion and give two example of each,  : : ‘

()  How much momentum will a dum bell of mass 10kg transfer to the 1(oor if it fall from & height of 0.8 m?

{Value of g=10ms™?)

Q.4 (a)  Define equilibrium of a body. Stale the two conditions of equlllbﬂuml

(b) Dstermine the mass of eaith by applying law of gravitation, )
Q.5 (a)  Siate and explain Archimedes principle. X ~

Marks ; 53

(b} Amanwhose mass is 75 kg walks up a helght of 12 steps each 200m high in 5 Sec. Flnd the power he devefops in Walt,

- Q6 ‘{3  Whaldoyou mean by linear thermal expansion of solkls? Give somp applications of this expansicn.

{b) IM17.60 J of heat is required to raise the temperature ol 10g of silvér Lhrough 50°C. Calculate he specific heat of silver,
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